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QUESTION 1

Which Of the following IEEE 802.11 standards is also known as Wi-Fi 6? 

A. 802.11ac 

B. 802.11n 

C. 802.11ax 

D. 802.11b 

Correct Answer: A 

 

QUESTION 2

A switch runs MSTP. The configuration is shown in the figure. What is the role of this switch in MSTI 1? 

A. Uncertain 

B. Root switch 

C. Non-root switch 

D. Secondary root switch 

Correct Answer: A 

 

QUESTION 3

CORRECT TEXT Compress the 2001:0DBB:B8:0000:C030:0000:0000:09A0:CDEF address.___________(if the
answer contains letters, capitalize them.) 

Correct Answer: pending 

 

 

QUESTION 4
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Which of the following statements about the forwarding plane of a switch is false? 

A. Provides high-speed and non-blocking data channels. 

B. Can encapsulate and decapsulate packets. 

C. Can collect packet statistics. 

D. Consists of main control boards and interface boards. 

Correct Answer: C 

 

QUESTION 5

Regarding the route-policy set-cost configuration below, which of the following statements is true? 

A. The route 11.1.0.0/16 is permitted by node 10, and its tost Is set to 300. 

B. The cost of all routes is set to 200. 

C. All the routes that are not permitted by node 10 will be denied. 

D. The route 11.1.0.0/16 will continue to match node 20 after permitted by node 10, and (he final cost is set to 200. 

Correct Answer: A 
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